HOME ECONOMICS YEAR 12 WORKSHEET 8

You can write your answers on this paper if you have printed this worksheet and paste it in your exercise
book or answer in your exercise book or activity book by writing down both questions and answers.

SHORT ANSWER QUESTIONS (10 marks)
Clothing Needs & Selection/Clothing Consumer

(@) Wendy has a bank card which she uses for EFTPOS transactions.

State one advantage and one disadvantage of having this type of bank card. (2 marks)
(b) (i) State two roles of a textile consumer. (2 marks)

(i)  Explain the meaning of the consumer’s Right to Redress. (2 marks)
Equipment

(©) (i) State one use of the following industrial sewing equipment.
1. Body scanner (1 mark)
2. Industrial cutter (1 mark)

(i) Uneven stitching is common while using the over locker.
Explain one remedy for uneven stitching during over locking. (2 marks)

THE END



